C:\Usersv\rickmEngineering Express\Production - Documents\Projects\20-26148 - FL12856.2 - Safety Edge Storm Panels\WWP\2020 FBC\20-26148e - FL12856.2 - DWG.dwg

rickn

10/06/2020 - 5:17pm

9'-2" MAXIMUM PANEL SPAN FOR

"SAFETY EDGE" & POLYCARB STORM PANELS

28ga (0.018") STEEL & 0.100" POLYCARB

Digitally signed by
Frank Bennardo
Date: 2020.10.07
10:56:30 -04'00'

RANK:S!

ERINTED COPIES O
DOGUMENTARE NOT

CONSIDERED SHGNED & SEALER

PERFORATIONS 0.018" GALV STEEL

(OPTIONAL)
PERFORATIONS

(OPTIONAL)
+_1 25..* SAFETY EDGE

SAFETY EDGE
(1/4" TYP)

0.378"

(1/4" TYP)
4 844"
6" COVERAGE

1

15" TOTAL WIDTH

POLYCARB STORM PANEL PROFILE

\_—.

2.5" COVERAG E

\/ 1 5 %
5.000"
6.25" COVERAGE
8.413" TOTAL WIDTH

POLYCARB HALF-PANEL PROFILE

5.000"

12" COVERAGE ‘ 0.378"
t 12.5" TOTAL WIDTH ' 7.531" TOTAL WIDTH
STEEL STORM PANEL PROFILE STEEL HALF-PANEL PROFILE
la 4" =1'-0" SECTION 1b 4" = 1'-Q" SECTION
i QT ot S S | P
,1:16" /; }\ . '& (£0.010") | }\ ,& . L P }\ ,& C(AiROB((Z))?(ﬁl'gE
E f_l_t\:f( . - 4 fl% i J ,\,- 0.75"
- ‘ 475.000" T

1c 4" = 1'-0" SECTION 1d 4" = 1'-Q" SECTION
0.875"
0.085" MIN
—— T 1/4-20 x 3/4" 5.5 STUDS THICKNESS
ST316" o | SPACED AT: .
T T ) ~12" O.C. UP TO 45 PSF 25/16
1 WIDTH UNLIMITED ———————————% - /:J:* b D N S (/MM - 6" ©.C. UP TO 54 PSF
TOP MOUNT MOUNTING T : g& b \l S
K(CONN AS REQ'D) SECTIONS e | OF IRy "
b - - = LoD fo / L -0.080" TYP
| Y " D e S @5/8"
| I e SN g Fz.ooo" KEYHOLE
OPTIONAL STUDDED ANGLE WASHER

ALL PANELS (STEEL,
PERFORATED & NON-PERFORATED)
\

| /"2 PERFORATIONS (2 Joo s 6 = 10"

o a

/"1 TYPICAL ELEVATION

" BOTTOM MOUNT
(CONN AS REQ'D)

u/ NT.S.

PLAN
\ VIEWS 1 3" =1'-0" ELEV v
HHH N [ T
‘ // T - v “f _._o.%;gn
| //// ™~ N L ‘fo. 125" T‘."IID — | L ' —
| T ALUMINUM STEEL J-PAN
T | ) CLOSURE CLOSURE
| 17 1 T - j 4 4" =1'-0" @ 4" =1'-0"
‘ //,/ \ T _l_ J 0.069"—}  0.069"— ”
L:;l;ﬁk_‘k‘_ﬁ__“tilé_ _//// : ¥: ::T izjii :j
/3 KEYHOLE PUNCH WASHERESD WIDE BASE
W1 o= ELEV WING NUT 5 WASHERED WING NUT
NTS NTS

GENERAL NOTI'::>;W

1) THIS SYSTEM HAS BEEN TESTED AND EVALUATED AS A LARGE
MISSILE IMPACT PROTECTIVE SYSTEM IN ACCORDANCE WITH THE
REQUIREMENTS OF THE FLORIDA BUILDING CODE SEVENTH EDITION
(2020), THE INTERNATIONAL BUILDING CODE (IBC) AND THE
INTERNATIONAL BUILDING CODE (IRC) CURRENT EDITION, FOR USE
QUTSIDE THE HIGH VELOCITY HURRICANE ZONE PER ASTM STANDARDS
E330, E1886, & E1996 SEE PRODUCT EVALUATION REPORT FOR
ADDITIONAL INFORMATION.

2) NO 33-1/3% INCREASE IN ALLOWABLE STRESS HAS BEEN USED IN
THE DESIGN OF THIS PRODUCT. WIND LOAD DURATION FACTOR Cd=1.6
HAS BEEN USED FOR WOOD ANCHOR DESIGN.

3) POSITIVE AND NEGATIVE DESIGN PRESSURES CALCULATED FOR USE
WITH THIS SYSTEM SHALL BE DETERMINED PER SEPARATE ENGINEERING
IN ACCORDANCE WITH THE GOVERNING CODE. PRESSURE REQUIREMENTS
AS DETERMINED IN ACCORDANCE WITH ASCE 7 AND CHAPTER 1609 OF
THE FLORIDA BUILDING CODE SEVENTH EDITION {2020) SHALL BE LESS
THAN OR EQUAL TO THE POSITIVE OR NEGATIVE DESIGN PRESSURE
CAPACITY VALUES LISTED HEREIN FOR ANY ASSEMBLY AS SHOWN.

4) THIS SYSTEM HAS BEEN DESIGNED WITH NO SEPARATION FROM
GLAZING REQUIRED FOR WIND ZONES 1-3 IN ACCORDANCE WITH ASTM
E1996. IT IS ACCEPTABLE BY CODE UNLESS OPTIONAL CRITERIA IS
INDEPENDENTLY ADOPTED BY THE AUTHORITY HAVING JURISDICTION.

5) DESIGN PRESSURES NOTED HEREIN ARE BASED ON MAXIMUM TESTED
PRESSURES DIVIDED BY A 1.5 SAFETY FACTOR.

6) THE SYSTEM DETAILED HEREIN IS GENERIC AND DOES NOT PROVIDE
INFORMATION FOR A SPECIFIC SITE. IF SITE CONDITIONS DEVIATE FROM
THE CONDITIONS DETAILED HEREIN, A LICENSED ENGINEER OR
REGISTERED ARCHITECT SHALL PREPARE SITE SPECIFIC DOCUMENTS TO
BE USED IN CONJUNCTION WITH THIS DOCUMENT.

7) THE ADEQUACY OF THE EXISTING STRUCTURE TO WITHSTAND
SUPERIMPOSED LOADS IS OUTSIDE THE SCOPE OF THIS CERTIFICATION
AND SHALL BE VERIFIED BY OTHERS.

8) CLEAR POLYCARBONATE PANELS SHALL BE ALTERNATED WITH 0.018"
(MIN) GALV STEEL PANELS SUCH THAT NO TWO POLYCARBONATE PANELS
ARE ADJACENT TO EACH OTHER.

9) No. 3 KEYHOLE WASHER REQUIRED ONLY WHEN 73" @ WASHERED
WING NUT No. 6 IS USED. WHEN LARGE WASHERED WING NUT No. 7 IS
USED, THE No. 3 KEYHOLE WASHER IS NOT REQUIRED.

10) ALL GALV STEEL STORM PANELS SHALL HAVE MIN GALVANIZED
THICKNESS t=0.018" CONFORMING TO ASTM A653, STRUCTURAL QUALITY
GRADE 40, WITH G60 GALVANIZED COATING AND MIN Fy=44.58 KSI.

11) CLEAR POLYCARBONATE STORM PANELS WITH 12.5" COVERAGE
SHALL BE MFD BY TRANSPARENT PROTECTION SYSTEMS, Inc., AND THOSE
WITH 6.25" COVERAGE SHALL BE MANUFACTURED BY TOWN & COUNTRY
INDUSTRIES, Inc. ALL POLYCARB PANELS SHALL BE EXTRUDED WITH
THICKNESS t=0.100" (£0.010") AND SHALL BE MANUFACTURED FROM
100% SYNTHETIC THERMOPLASTIC POLYMER RESIN (UV STABILIZED).
TYPICAL TENSILE STRENGTH Fy=8.908 KSI, FLEXURAL STRENGTH
Fby=12.90 KSI, & FLEXURAL MODULUS IS 328.7 KSI.

12) ALL EXTRUSIONS SHALL BE 6063-T6 ALUMINUM ALLOY, UNLESS
NOTED OTHERWISE.

13) PANELS SHALL BE PERMANENTLY LABELED WITH A MINIMUM OF ONE
LABEL PER PANEL AS FOLLOWS:

TOWN & COUNTRY INDUSTRIES

FT. LAUDERDALE, FL

ASTM E1886, E1996 & E330 9 LB MISSILE LEVEL D
FLORIDA PRODUCT APPROVAL NUMBER

14) STORM PANELS HAVE BEEN DESIGNED AND TESTED TO THE
MAXIMUM SPANS AND LOADS SHOWN ON THESE DRAWINGS. REFERENCE
CONSTRUCTION TESTING CORPORATION (CTC OF MIAMI, FL) TEST
REPORTS #04-004, #04-005, & #04-006.

15) TOP & BOTTOM DETAILS SHOWN MAY BE INTERCHANGED AS FIELD
CONDITIONS DICTATE. PANELS MAY BE MOUNTED HORIZONTALLY WHERE
APPLICABLE.

16) ALL BOLTS & WASHERS SHALL BE ZINC COATED STEEL, GALVANIZED
STEEL OR STAINLESS STEEL WITH A MINIMUM TENSILE YIELD STRENGTH
OF 33 KsI.

5 "

VISIT ECALC.10/26148

FRANK BENNARDO, PE
PE# 0046549 CA#9885

CORPORATE OFFICE:
160 SW 12th AVE, SUITE 106

(954) 354-0660 | (866} 396-9999

DEERFIELD BEACH, FL 33442
TEAM@ENGINEERINGEXPRESS.COM
ENGINEERINGEXPRESS.COM

o
1+
n
@
o
|
e
N g
o 3
L‘Eoiﬂcn
& @ =]
i 28
—ogr 2
DEs &2 Mm
oL : gmd
_mdzm"
o U_|
Q,é S 2%
T E =
Q’/' 32 mé
I~
Z 89
P
= § ¢
Q
& =
i o
==

2= FIEIER
Eé%@ggriég
GRS gEEE
=| $j28
R
: O Io>x %EEE
= BE
BN i
AEEnE
R
5 o EEE;
e Q| EECe
2wl 8, 8 hud
Sdapet i
e |- E
BRI
COPYRIGHT FRANK L BENNARDO P.E.
20-26148
SCALE: I =

PAGE DESCRIPTION:

FOR SITE SPECIFIC DEVIATIONS
& MORE INFORMATION ABOUT THIS DOCUMENT
OR SCANTHIS QR CODE

VISIT ENGINEERINGEXPRESS.COM/STORE
FOR ADDITIONAL PLANS, REPORTS & RESOURCES

oF

ll



http://ecalc.io/26148

C:\Usersv\rickmEngineering Express\Production - Documents\Projects\20-26148 - FL12856.2 - Safety Edge Storm Panels\WWP\2020 FBC\20-26148e - FL12856.2 - DWG.dwg

rickn

10/06/2020 - 5:17pm

EXISTING HOST
RSTRUCTU RE

ANCHOR SCHED

1
%2" TO 5"
- 415
ANCHOR PER <, o

172" MIN#

(DIRECT MOUNT) g

?EMBE[SQ

lm‘n\

ﬂ MINIMUM 7‘\/\;7

EXISTING 4 SEPARATION
GLAZING SCHEDULE —*\/\——

-2" MAX PANEL SPAN

5.5 5TUDS
SPACED AT:

T
TO 45 PSF

-6" 0.C. UP
54 PSF

EDGE
DIST

B

N

L1/4" Max

% 10
\ANCHOR PER ANCHOR

SCHEDULE (STUD
ANGLE ATTACHMENT)

/"1, MOUNTING SECTION

\g/ 3 =1'-0"

1/4-20 x 3/4"

-12" 0.C. UP

SPAN SCHEDULE

28ga (0.018") GALV STEEL PANELS

MAX LOAD: =+£54.0 psf

MAX SPAN: 9'-2" (ALL MOUNTING CONDITIONS)

MIN SPANS: 26" (DIRECT MOUNT TOP & BOTTOM)
16" (ALL OTHER CONDITIONS)

0.100" CLEAR POLYCARB FULL-/HALF-PANELS

MAX LOAD: =£54.0 psf

MAX SPAN: 9'-2" (ALL MOUNTING CONDITIONS)

MIN SPANS: 24" (DIRECT MOUNT TOP & BOTTOM)
15" (ALL OTHER CONDITIONS)

GLASS SEPARATION
SCHEDULE NOTES:

1. GLASS SEPARATION SCHEDULE PROVIDES
MINIMUM SEPARATION DISTANCE REQUIRED BETWEEN
EXTERICR FACE OF GLAZING (OR OTHER PRODUCT
BEING PROTECTED) AND INTERIOR FACE OF
INSTALLED STORM PANEL.

2. SEPARATION DISTANCE PER THIS SCHEDULE IS
REQUIRED FOR USE WITH POSITIVE LOADS ONLY.

3. SEPARATION FROM GLASS IS NOT REQUIRED FOR
INSTALLATIONS IN WIND ZONES 1-3 UNLESS LOCAL
MUNICIPALITY HAS ADOPTED ADDITIONAL CRITERIA.

OVERLAP

LTI /4"

MAX

il \~ANCHORS AT 17" O.C. (USE ANY

ANCHOR FROM ANCHOR SCHED)

/2, TRAP MOUNT CLOSURE

ot
ﬁ?_/

EXISTING HOST
STRUCTURE, TYP

1

1/4"
MAX

>

EXISTING HOST

STRUCTURE

PLAN VIEW

1/4"

MAX7/(

/3" WALL MOUNT CLOSURE

TO

FASTEN PANELS TO
HOST STRUCTURE OR
TO STUDDED ANGLE
(TOP & BOTTOM) AT
CORRUGATION VALLEY
CLOSEST TO CORNER
(EACH SIDE)

PLAN VIEW

BEND PANEL AROUND
CORNER & STITCH TO
ADIACENT PANEL
WITH 1/4-20 BOLTS
& WASHERED
WINGNUTS AT 24"
0.C. (TYP)

EXISTING HOST

STRUCTURE

/"4, CORNER CLOSURE

Q/ N.T.S.

PLAN VIEW

GLASS SEPARATION
SCHEDULE

28ga (0.018") GALV STEEL PANELS

o MIN. GLASS SEPARATION FOR INSTALLATIONS
AT OR BELOW 30' ABOVE GRADE:

o MIN. GLASS SEPARATION FOR INSTALLATIONS
GREATER THAN 30' ABOVE GRADE: 5.375"

0.100" CLEAR POLYCARB FULL-/HALF-PANELS

5.375"

o MIN. GLASS SEPARATION FOR INSTALLATIONS
AT OR BELOW 30' ABOVE GRADE:

o MIN. GLASS SEPARATION FOR INSTALLATIONS
GREATER THAN 30' ABOVE GRADE: 5.375"

7.350"

CLOSURE PIECE: 1"x2"

ALUMINUM ANGLE

ALT. TRAP MOUNT CLOSURE DETAIL

vy
"./.-"../ £ S
{ T A
A A
e — - o &
i Ry
‘ Py o
ey S
Va0
MAX . BUILD-OUF.~"/
7 DISTANCE -
ALUMINUM ANGLE 1
CI!_O?URE PIECE.E EXISTING
1"x2" MIN, 1"x5 HOST
MAX, 0.0625" MIN. STRUCTURE

MIN, 1"x5" MAX,
0.0625" MIN. 1.
THICKNESS.
D7)
T ' / S / ;
: DIST. L g
EXISTING | EXISTING
< / HOST 1/4" “4 HosT
/7 1/4-20 BOLTS & - STRUCTURE (MAX. ~1 "~ STRUCTURE
~ WASHERED ‘
N EIS WINGNUTS AT 24" LA
0.C. (TYP) ALUMINUM ANGLE CLOSURE -~

PIECE: 1"x2" MIN, 1"x5" MAX,

0.0625" MIN. THICKNESS.
ANY ANCHOR PER ANCHOR

SCHEDULE, SPACED 24"
0.C.

£1/4-20 BOLTS &
WASHERED ALTERNATE

WINGNUTS AT 24" CLOSURE DETAIL
0.C. (TYP)

FRANK BENNARDO, PE
PE# 0046549 CA#9885

CORPORATE OFFICE:
160 SW 12th AVE, SUITE 106

(954) 354-0660 | (866} 396-9999

DEERFIELD BEACH, FL 33442
TEAM@ENGINEERINGEXPRESS.COM
ENGINEERINGEXPRESS.COM

THICKNESS.

1/4-20 BOLTS &
WASHERED
WINGNUTS AT 24"
0.C. {TYP)

BUILD-OUT MOUNT CLOSURE DETAIL

1 1/4"

MAX 7/

@(5)\

ANCHORS AT 17" O.C.
(USE ANY ANCHOR
FROM ANCHOR SCHED) —|

ANCHOR SCHEDULE NOTES:

1} "DEWALT PANELMATE" ANCHORS MAY BE DEWALT FEMALE PANELMATE OR ELCO PANELMATE
PLUS, AS ILLUSTRATED.

2} ENSURE MINIMUM 2" EDGE DISTANCE FOR ANCHORS TO CONCRETE & TO HOLLOW BLOCK,
U.N.O. EDGE DISTANCE OF 3/4" IS ACCEPTABLE FOR ANCHORS TO WOOD,

3) MINIMUM EMBEDMENT SHALL BE AS NOTED IN ANCHOR SCHEDULE. MINIMUM EMBEDMENT
AND EDGE DISTANCE EXCLUDES STUCCO, FOAM, BRICK, AND OTHER WALL FINISHES.

4} ANCHORS SHALL BE INSTALLED IN ACCORDANCE WITH MANUFACTURERS'
RECOMMENDATIONS.

5) ALL CONCRETE ANCHORS SPECIFIED HEREIN SHALL BE INSTALLED TO NON-CRACKED
CONCRETE ONLY, ALL BLOCK SUBSTRATES SHALL BE ASTM C-90 MINIMUM,

6) WHERE EXISTING STRUCTURE IS WOOD FRAMING, EXISTING CONDITIONS MAY VARY. FIELD
VERIFY THAT FASTENERS ARE INTO ADEQUATE WOOD FRAMING MEMBERS, NOT PLYWOOD.

7} WHERE ANCHORS FASTEN TO NARROW FACE OF STUD FRAMING, ANCHOR SHALL BE
LOCATED IN CENTER OF NOMINAL 2x4 (MIN}) WOOD STUD (i.e. 3/4" EDGE DISTANCE IS
ACCEPTABLE FOR ANCHORS TO WOOD FRAMING). WOOD STUD SHALL BE "SOUTHERN PINE"
G=0.42 OR GREATER DENSITY, UNLESS OTHERWISE NOTED.

8) ANCHOR SCHEDULE APPLIES FOR ALL PRODUCTS CERTIFIED HEREIN, BUT ONLY PROVIDES
MAXIMUM ALLOWABLE ANCHOR SPACING. MAXIMUM ALLOWABLE SPANS AND PRESSURES
INDICATED IN SPAN SCHEDULE SHALL APPLY.

9} MACHINE SCREWS SHALL HAVE MINIMUM OF 1/2" ENGAGEMENT OF THREADS IN BASE
ANCHOR AND MAY HAVE EITHER A PAN HEAD, TRUSS HEAD, OR WAFER HEAD ("SIDEWALK BOLT")
U.N.O.

10) ALLY;" EA MALE BOLTS MAY USE THE OPTIONAL FEMALE CAP SHOWN BELOW AT THE
ANCHOR SPACINGS LISTED

[ 1]

OPTIONAL
FEMALE CAP

o

0

LN

-]

o

pa

i
N g
o 3

L‘Eo'jiﬂcn

& B [=]

i 28

—cg: 28

DEs &2 Mm

o2 : gd

_mdzm"

o U_|

Q,é & =X

T E =

‘\1/'32 mé

=i 2%

Z 85

s T .

= § ¢
.
=
=
= =

EXISTING HOST ]
STRUCTURE —_

BUILD-OUT
/5, MOUNT CLOSURE

\Zj 3" =1'-0" PLAN VIEW

2= FIEIER
Eé%@ggriég
GRS gEEE
=| $j28
R
: O Io>x %EEE
= BE
BN i
AEEnE
R
5 o EEE;
e Q| EECe
2wl 8, 8 hud
Sdapet i
e |- E
BRI
COPYRIGHT FRANK L BENNARDO P.E.
20-26148
SCALE: I =

PAGE DESCRIPTION:

oF

2



http://ecalc.io/26148

C:\Usersv\rickmEngineering Express\Production - Documents\Projects\20-26148 - FL12856.2 - Safety Edge Storm Panels\WWP\2020 FBC\20-26148e - FL12856.2 - DWG.dwg

rickn

10/06/2020 - 5:17pm

ANCHOR SCHEDULE (STUD ANGLE ATTACHMENT)

ANCHOR SCHEDULE (DIRECT MOUNT)

FRANK BENNARDO, PE
PE# 0046549 CA#9885

“,

— 6 LOAD Spans Spans Spans Spans .
‘g 2 ANCHOR ! UpTo | UpTo | UpTo | Up Te - lg LOAD Spans | Spans | Spans  Spans
25 D] 5o | 6ve | 7o | o [|@ @] e (pepy| UPTO | UpTo | UpTo UpTo
1/4" ITW S.S. TAPCON W/ 33 | 16.0" | 16.0" | 16.0" | 16.0" L0 5-0" | 6-8" | 7-6" §-2"
1-3/4" EMBED, 1-1/4" EDGE v | 16.0" | 16.0" . 174" EA MALE BOLIT, 2-1/27 33 [ 16.0" | 16.0" | 16.0" | 16.0"
DIST. (3192psi MIN CONC) 38 | 16.0 16.0 EMBED AND 2.5" MIN. EDGE 38 | 16.0° | 16.0° | 160" | 16.0°
47 | 16.0" | 16.0" | 16.0" | 16.0" DISTANCE (2900 PST CONC) 47 | 160" [ 160 | 16.0° | 160
s sa | 16.0" | 16.0" | 16.0" | 16.0" - w 54 | 16.0" | 16.0° | 16.07 | 16.0"
1/4" DEWALT ULTRACON 33 | 16.0" | 16.0" | 16.0" | 16.0" E 1/4" EA MALE BOLT, 1-7/8" 33 | 16.0" | 16.0" | 16.0" | 16.0"
1-3/4" EMBED, 1" MIN. EDGE " " & |EMBED AND 2.5" MIN. EDGE 38 | 160" | 16.0° | 16.0° | 16.0°
w : 3 o | 16.0 16.0 o ] ] , .
E [pisT. (2846psi MIN CONC) 8 | 16.0 16.0 § |DISTANCE (2900 PS1 CONC) o e e e o [ 16,07
o 47 | 16.0m | 16.0" [ 16.0" | 16.0" o = it 5 o — —
3! R Treo Tieo - 3 54 | 16.0" | 16.0" | 16.0" | 16.0
o 54 | 16.0 : : 16.0 1/4" €A MALE BOLT, 2-1/2" 23 | 16.0" | 16.0" | 16.0" | 16.0"
“ [1/4" ALL POTNTS SOLTD-SET | 33 | 16.0" | 16.0" | 16.0" | 16.0" EMBED AND 1-25"p"g§“'c-gng 38 | 16.0" | 16.0" | 16.0" | 16.0"
ANCHOR x 7/8" EMBED & 38 16.0" 16.0" 16.0" 16.0" D ) 47 16.0" | 16.0" | 16.0" | 16.0"
1-1/4" MIN EDGE DIST " - . 54 160" | 1600 | 160" | 16.0°
(3000psi MIN CONC) a7 16.0" | 16.0 16.0 16.0" . . . .
54 | 16.0" | 16.0" | 159" | 159"
1/4" MILLENTUM MILLFAST 33 | 16.0" | 16.0" | 16.0" | 15.0"
w/ 1-3/4" EMBED, 1" MIN. v | 16.0" | 16.0 .
EDGE DIST. (3275 psi MIN 38 16.0 . . 16.0
CONC) 47 | 16.0" | 16.0" | 16.0" | 16.0"
f 54 | 16.0" | 16.0" | 16.0" | 15.0"
= .
Q Spans | Spans | Spans | Spans
52 LOAD| nTo | UpTe | UpTe | UpTe | | 'g LOAD Spans Spans‘ Spans Spans
© —| ANCHOR (psf) 5ot 68" F glgn 0z UpTo |UpTo &l UpTo UpTo
TWn @] 5 ANCHOR (psf) Sg" & 7.6  g.p"
1/4" ITW S.5. TAPCON W/ 33 | 145" | 119" | 106" | 7.9" | = 5 - - - -
1-1/4" EMBED, 4" MIN. EDGE [ m - o " =z 174’ EA MACE BOLT, T-1/4 33 | 16.0° | 16.0" | 16.0" | 16.07
38 | 126 10.3 9.2 6.9 «|EMBED AND 1.25" MIN. EDGE o m o -
DIST. 9 SloisTance 38 16.0 16.0 16.0 16.0
47 | 10.2" | 84" 7.4" 5.6" a9 47 [ 16.0" [ 16.0" [ 16.0" | 16.0"
54 8.9" 7.3" 6.5" 4.8" I o) 54 16.0" 16.0" 16.0" 16.0"
1/4" DEWALT ULTRACON W/ | 33 | 16.0" | 14.0" | 13.1" | 11.1"
1-1/4" EMBED, 1" MIN. EDGE [ - p— - -
« |osT. 38 | 16.0 13.5 12.2 9.6
g 47 | 143" | 12.7" | 104" | 7.8"
@ B sa | 12.4v | 102" | 91" | &.8"
g 1/4" ALL POINTS SOLID-SET | 33 16.0" | 16.0" | 16.0" | 16.0"
= |ANCHOR x 7/8" EMBED, 2" - o " " "
S |m. EoGE prsT, 38 | 16.0 16.0 16.0 16.0
47 | 16.0" | 16.0" | 16.0" | 15.9"
@ 54 | 16.0" | 15.1" | 147" | 13.9"
1/4" MILLENIUM MILLFAST 33 | 16.0" | 14.9" | 144" | 13.3"
w/ 1-1/4" EMBED, 1" MIN. a8 | 16.0" | 142" | 135" | 116"
EDGE DIST.
47 | 16.0" | 13.3" | 12.0" | 9.4"
54 | 14.9" | 12.2" | 109" | 8.1
B‘ o
ES LoaD| Spans | Spans | Spans | Spans || lg Loap| SPans | Spans | Spans  Spans
8% | ancHor s | Wor | ‘Cae | e | 'wae |12 8] ancror (pefy| UPTe [ UpTo | UpTo UpTo
I £h P 50" | g-8" | 7.6 9-2"
174" ITW S.5. TAPCON OR 33 16.0" 15.7" 15.5" i5.2" 174" A MALE GOLT, 1-1/2" 33 16.0" 16.0"° 16.0" 16.0"
ELCO ULTRACON OR #14 38 16.0" 14.9" 14.3" 132" m EMBED AND 3/4" MIN. EDGE 28 16.0" 16.0" 16.0" 16.0"
WOOD SCREW OR SMS X [— — = "o o oo [ g e | |§[PISTANCE 45 | 16.0" | 16.0° | 16.0" | 16.0"
EE 2" EMBED sa | 160" | 53 | 1200 | o3 o g . 54 | 16.0" | 16.0" | 16.0" | 16.0"
"5 Loty | 34 ' — ' i~ o ¥ 33 | 16.0° | 16.0° | 16.0" | 16.0°
n g 1/4" LAG SCREW OR 33 16.0" 15.8" 15.7" 15.5" o 28 16.0° | 16.0° 6.0° 160"
[=] HANGER BOLT x 2" THREA o - - - -
TR EMBED 38 16.0" 15.0" 14.5" 13.4" = 45 16.0" 16.0" 16.0" 16.0"
gE A 47 | 160" [ 130" | 129" | 109" 54 | 16.0" | 16.0" | 16.0" | 16.0"
SE T 54 | 16.0" | 13.4" | 121" | 9.5
g & [T/ DEWALT PANELMATE 33 | 16.0" | 157" | 15.5" | 15.2"
(FEMALE, MALE, OR PLIUS) i/
1-7/8" MIN EMBED 38 16.0" 14.9" 14.3" 13.2"
47 | 16.0" | 13.9" | 12.8" | 10.7"
54 | 16.0" | 13.3" | 120" | 9.3"
i |
o Spans Spans Spans Spans Spans
g é ANCHOR L(g:f')) UpTo | UpTo | UpTo | UpTo [ UpTo |1 g LOAD LSJza_:_wz ?Jia'?z LSJEB'?Z iza'?: szia_?z
s.ov | oog" | 7en | slav | o2 | |8
= L J|F ] ANCHOR (pofy| Y2 To[UpTo | UpTo | Up To | Up T
174" ITW 5.5, TAPCON OR | 33 | 16.0 14.9 14.6 13.9 13.1 7o EAMALEBOLT, 11727 33 160 [ 160 [ 160 | 1eo0"  1eo"
DEWALT ULTRACON OR 38 | 16.0" | 14.0" | 133" | 12.4" | 12.0" EMBED 38 | 160" | 160" | 160" | 16.0" | 16.0"
#14 WOOD SCREW OR 47 | 16.0" | 13.0" | 12.0" | 11.1" | 10.4" < : : : : '
Eo SMS x 2" EMB@M : - : - : - : - : . C", 45 16.0 16.0 16.0 16.0 16.0
= E Dt | 54 | 1517 ) 12.5% [ 11.3" ] 10.6 9.3 © 54 | 16.0" [ 16.0" | 16.0" | 18.0" | 16.0"
:Or_ g 1/4" LAG SCREW OR 33 | 16.0" | 157" | 15.6" | 15.4" | 153" 8 1/4" EA MALE BOLT, 2° 33 | 16.0" | 16.0" | 16.0" | 16.0" | 16.0"
To HANGER BOLT X 2" EMBED [ 52 | 160" | 149" | 144" | 138" | 133" Q [emeED 38 | 16.0" | 16.0" | 16.0" | 16.0" | 16.0"
;E ——— 47 | 16.0" | 13.9" | 12.9" | 11.8" | 10.8" i 44 | 16,0” | 16.0" | 16.0” | 16.0” | 16.0"
g § R 54 | 16.0" | 13.3" | 12.0" | 107" | 9.4 54 | 16.0" | 16.0" | 16.0" | 16.0" | 16.0"
= & [T/47 DEWALT PANELMATE 33 | 16.0" | 157" | 155" | 15.4" | 152"
(FEMALE, MALE, OR PLIUS) i/
1-7/28" MIN EMBED 38 16.0" 14.9" 14.3" 13.8" 13.2"
B [T 47 | 16.0 13.9 12.8 11.8 10.7
O o 54 | 16.0" | 13.3" | 12.0" | 10.7" | 9.3"

|—§ LOAD Spans | Spans | Spans | Spans || g LOAD 5pans | Spans | Spans  5Spans
I UpTo | UpTo | UpTo [ UpTo | |9 UpTo| UpTo | UpTo UpTo
O || ANCHOR (s | 5.gv | g-g" | 7-6" | 9-2 ||QF| ANCHOR (Pl oo | g | 757 g2
1/4" PANELMATE (PLUS OR " u " " 1/4" EA MALE BOLT, 2-1/2" 33 | 12.0" | 12.0" | 12.0" | 12.07
FlI;MALE) x 1-3/4"(EM BED 33 12'0.. 122 122 12'0.. ET?TEEN?;'ED(ZZE;SB “3;'}"5855 38 | 120" | 120" | 12.0" | 12.07 0
(3350psi MIN CONC) 38 | 12.0 : : 12.0 . 47 | 12.0° | 12.00 | 12.6" | 12.0° o g
o " 45 | 120" | 12.0" | 12.0" | 120" " ~ 54 | 60" | 6.0" | 60" | 607 ¢ 5
" " " " 1/4" EA MALE BOLT, 1-7/8" 33 [ 12.0" [ 12.0" | 12.0" | 12.0 wm oI
w i - i 54 | 6.0 6.0 6.0 5.0 E EMBED AND 2.5 MIN. EDGE  [35 T 120" [ 120" | 120" | 12.0° .M gq 8
i [1/4" TW "SAMMYS S5C 33 | 1z.0" | 12.0" | 12.0" | 12.0" O |DISTANCE (2000 PST CONC) = = T = =g
& | WITH 1-3/4" EMBED - . . - Z i N 47 [ 120" [ 120" [ 120" [ 120 g o R T ifj o
S (3295psi MIN CONC) 38 12.0 12.0 12.0 12.0 8 54 5.0" 6.0" 6.0 5.0 i 0w -Eﬁ o
O 45 | 120" | 12.0" | 12.0" | 12,0 174" EA MALE BOLT, 2.1/2" 33 [ 120" [ 12.0" [ 12.0" | 12.0° our 6 gug
~ - - - EMBED AND 125" MIN. EDGE ("2 120" | 12.0° | 12.0° | 12.0° wd O 20k
54 | 6.0 6.0 6.0 6.0 DISTANCE (2900 PSI CONC) o2 15 o T o0 1207 <2 ﬁ —Su
1/4" ALL POINTS SOLID-SET | 33 | i2,0" | 12.0" | 12.0" | 12.0" T 54 | 60" | 6.0' | 6.0° | 60" oM E ¥ E
ANCHOR x 7/8" EMBED & " " B T2
v | 120 12.0 "
1-1/4" MIN EDGE DIST 38 | 120 12.0 N By
(3000psi MIN CONC) 45 | 1z2.0m | 12.0" | 12.0" | 12.0" o w o2
: s4 | 80" | 80" | 60" | so0" % L EE g
w
w
E 5 s s s s 8 E
5 spans | Spans | Spans | spans || & Loap| SPans pans pans pans
=1 LOAD [fa ] Up To |Up Tos'| UpTo Up To —
0 UpTo | UpTo | UpTo [ UpTo | |6 ANCHOR f AP . AP Y
OF| ANCHOR (psh) | 5o | e-g* | 76" | awov ||Ein (psOf 5. 5 7-6"  9-2
- 1/4" EA MALE BOLT, 1-1/4" 33 | 12.0" | 12.0” | 12.0" | 12.0”
1/‘;4 PANELMATE (P;US OR [ 33 [ 420" [ 12.0" [ 12.0" | 12.0" ||& .|emeer anD 1257 MinEDGE |35 | 120" | 120" | 1207 | 1207 ~
- " U . . . .
F§3§3|;,i)i ),f,,IlNaégNE:) BED 38 12.0" | 12.0" | 12.0" | 12.0" E,' 9 DISTANC 47 [ 12.0" [ 12,07 | 12,07 | 12.07 o
= 5 " " " m
— . 45 | 120 | 12.0" | 12.0" | 1200 | =2 54 | 6.0 6.0 6.0 6.0 8
54 6.0“ 6.0“ 6.0“ 6.0“ :"
35 1/4" ITW "SAMMYS S5C" 33 | 12.0" | 12.0" | 12.0" | 12.0" [
3 2| WITH 1-1/4" EMBED " " a w2
a3 4 38 | 12.0" [ 120" | 12.0" | 12.0" M R
— =4
* 45 | 120t [ 120" | 12.0" | 1200 N 8% Ao
54 | 60" | 60" | 80" | 60" : PR g a
1/4" ALL POINTS SOLID-SET | 33 | 12.0" | 12.0" | 12.0" | 12.0" = Sot 9o
ANCHOR x 7/8" EMBED, 2" - — — - 08 : oma
MIN. EDGE DIST. 38 | 12.0" | 12.0" | 12.0" | 120 Q 233 &
= 45 | 12.0" | 12.0" | 12.0" | 12,0 e 93
54 6.0" 6.0" 6.0" 6.0" g = g
i
x
E 5 Q92 88
= Loap| SPans | Spans | Spans | Spans = LOAD ipa_ll’_\s ipa_lr_\s ipa_lr_\s ipa_'l'_\s E z g
Ve UpTo | UpTo | UpTo | UpTo ||8 & ancHOR £ pTo pTo pTo pTo = S
R | ANCHOR (psf)| s-0n | 68" | 76" | 92 || D (PN s o | 5.5 | 767 9.2 <qcn < .
174" EA MALE GOLT, 1.1/2° g T - - L
174" TTW 5.5, TAPCON OR | 33 | 12.0" | 120" | 12.0" | 12.0" || |cuben Anbave Min. soce |2 2:0" | 12.0° 1 12.0" | 12.0° 2 3 ko
TRACON OR 0 : 38 | 12.0" | 12.0" | 12.0" | 12.0 @©
DEWALT UL 38 | 12.00 | 12.0" | 12.0" | 12.0" | |G [DISTANCE 45 120 120 [ 120" [ 120° Q o}
#14 WOOD SCREW OR : - - : [ =~ - e = =
EE SMS x 2" EMBEp W= | 45 | 120" | 12.0" | 120" | 120" ||2 2 54 | 60" | 60" | 60" | 60 =
= . " " " w | |lo S|4 EA MALE BOLT, 2" EMBED | 33 | 12.0" | 12.0" | 12.0" [ 12.0”
0= 24 | &0 8.0 8.0 &.0 & [AND 3/4" MIN. EDGE 38 | 12.0" | 12.0" | 12.0" | 12.07
O% 1/4" LAG SCREW OR 33 12.0" 12.0" 12.0" 1z.0" = DISTANCE 45 12.07 12.0° 12.0" 12.0°
U5 | HANGER BOLT x 2" EMBED | 38 | y2.0v | 12.0" | 120" | 120" = 60 60 | 60 | 60°
os - 45 | 12.0" | 12,07 | 13.07 | 1207 3 =TE
=|w :
85 P 54 5.0" 5.0" 5.0" 6.0" E g |5 £ S §§'§§
Z (7 [1/4 DEWALT PANELMATE w1 120" | 12.0° - < g SR 3
(FEMALE, MALE, OR PLLIS) W/ 33 | 12.0 12.0 Sl 2 §agg
1-7/8" MIN EMBED 38 12.0" 12.0" 12.0" 12.0" 5 BRRRE EEES
n n " m m m [ (=3
45 | 12.0 | 12.0" | 12.0" | 12.0 2B 282 §§
54 | 60" | 60" | 60" | &0 z z E Esg
- - BoBeEEe gy
s] Spans | Spans | Spans | Spans | Spans
|—8 LOAD Spans | Spans | Spans | Spans | Spans g P NCHO LO'Q;D UsTo | UpTo | UpTo | UpTo [ UpTo . w 3555
OE | ancror UpTo | UpTo [ UpTo | UpTo | UpTo [|2 5] AVCTOR 0D 5o | 6 | 76 | a4 | oo g g EEE
IE (psf) 5.g" 5-8" 76" g-4" g'.on 1/4" EA MALE BOLT, 1-1/2"| 33 | 120" | 12.0" | 12.0" | 12.0" | 12.0" i E gggg
EMBED " " ™ ) M H
1/4" ITW 5.5, TAPCON OR | 33 | 12.0" | 12.0" | 120" | 12.0" | 12.0" | & ER T TN TN LR L g AR
DEWALT ULTRACON OR . " " . (I . : : : : wl |2 @ ERu
12.0 12.0 . e " - - 2
#14 WOOD SCREW OR 38 | 12.0 . . 12.0 12.0 2 54 | 60" | 60° | 6.0 | 60" | 60 E é § § § E‘ g SE %
EE SMS x 2" EMBEE 45 | 12,0 | 12.0 12.0 12.0" | 12.0" g [/4" EA MALE BOLT, 27 33 | 120" | 12.0" | 1207 | 12,07 | 12,07 Elslelxsd mEEE
25 54 | g.om 5.0" 5.0" 5.0" so" | & [F"%P 36 | 120" | 1200 | 120" | 120 | 120 | (B 2B REB RS2 E®
~ ) ) ) . . i i | ==
- " ﬂmmm EE] 1z2.0" | 12.0" 12.0 12.0 12.0 COPYRIGHT FRANK L BENNARDO P.E
;é 1/4" LAG SCREW OR 33 | 12.0" | 120 12.0 i2.0" | 12.0" 54 | 60" | 60" | 60" | 60" | 60"
& G| HANGER BOLT x 27 EMBED | 38 | 12,07 | 12.0" | 12.0" | 12.0" | 12.0" 20-26148
Eg . 45 | 12,00 | 120" | 120" | 12.0" | 12,0 SCALE: -
Sw [——— 54 | 60" | 60" | 60" | 60" | 6.0 PAGE DESCRIPTION:
=1 [ 174" DEWALT PANELMATE maz0" | 120" " " -
(FEMALE, MALE, OR PLUSY W/ 33 12.0 ’ ’ 12.0 12.0 -
1’7,”8“ MH'E"‘ Ers 38 12.0" 12.0" 12.0" 12.0" 12.0" OF
45 | 12,0 | 12.0" [ 12.0" | 12,0 | 12.0" 3
54 6.0“ 6.0“ 6.0“ 6.0“ 6.0“



http://ecalc.io/26148

	_DWG_Page_1
	_DWG_Page_2
	_DWG_Page_3

		2020-10-07T10:56:30-0400
	Frank Bennardo




